Announcements

« Homework 6 is due March 10, this Friday.

« Homework 7 is due March 22, the Wednesday after the spring break.



Last time

* Rutherford scattering



Today's class

« Bohr model



in-class quiz (5 min)

Alpha particles of kinetic energy 5.0 MeV are scattered onto an Al foil (p = 2.7
g/cm3, M = 27 g/mole) with a thickness of 1.0x10°m. Find the fraction of the
alpha particles scattered at angles greater than 90°.

A. 2.6 x103
B. 2.6 x104
C. 2.6 x10°
D. 2.6 x10°

E. 2.6 x10°
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Introducing today’s Nobel laureate

The Nobel Prize in Physics 1922 was
awarded to Niels Henrik David Bohr
"for his services In the investigation
of the structure of atoms and of the
radiation emanating from them"
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Bohr’s Postulate
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